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A FI5AE10 A K HHLE
HT HK A0 (58) A (40) An GH
H #HT 487 403 394 797
AT 1,780 1,671 1,795 3,466
JHET 985 903 832 1,735
== 1T 1,252 986 1,046 2,032
FFHT 1,958 1,817 1,905 3,722
JTHT 1, 659 1,703 1,847 3, 550
i 841 928 970 1,898
A AET 610 518 562 1,080
At ZEHT 901 863 894 1,757
BT 689 627 617 1,244
HAET1 T H 891 843 851 1,694
HARET2 TH 802 782 760 1,542
PEFTIR 1 T H 2,195 1,843 1,967 3,810
VEETIR 2 T H 973 872 915 1,787
FEET1TH 1,570 1,296 1, 650 2,946
T2 TH 1,253 951 1,120 2,071
kAT 3 T H 1, 427 1,433 1,520 2,953
T4 TH 2,871 2,662 2, 879 5, 541
SRHET 937 904 945 1,849
FRAEHT 1,205 1, 155 1,232 2, 387
EFIT1 TH 517 447 495 942
EFET2 TH 777 840 792 1,632
KT 3 T H 730 718 702 1,420
EKFHT4 TH 212 215 204 419
EJFET5 TH 478 454 501 955
AbFTIR AT 1,108 1,131 1, 080 2,211
[ B AT 1, 604 1,671 1,798 3, 469
FiEs 1,203 1,248 1, 300 2,548
E1TH 429 465 498 963
tE 2 TH 627 738 744 1,482
tE3TH 479 540 531 1,071
EE4 T H 405 516 500 1,016
FAZENT 1,392 1,047 1,087 2,134
=L 720 692 729 1,421
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FI54E10 A oK H BUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,025 830 1,022 1, 852
ERNET 921 998 1,019 2,017
KETHH 167 97 151 248
[icg gzl 869 921 865 1,786
HOHTHHT 1,004 1,079 1, 066 2, 145
KFEHE 1,744 2,038 2,013 4,051
KFFRIL 1,521 1,536 1,595 3,131
Al - /N 6, 150 6, 353 6,327 12, 680
KT TNLEm 4,943 5, 396 5,379 10, 775
KR EE 4,764 4, 550 4, 604 9, 154
WAL 957 800 843 1,643
[EREa 501 407 409 816
S 1,521 1,375 1,476 2,851
EoE1TH 546 540 509 1,049
BEo=2TH 716 647 653 1,300
KFEA K 4,783 5,014 5,051 10, 065
KFEFIE 3,399 3,633 3, 648 7,281
KFA 11, 060 11,533 12, 067 23, 600
K7 Eilin 2,016 2, 064 2,052 4,116
/INFFRET1 TH 2, 625 2,323 2, 706 5,029
/INFFRET2 TH 1,285 1,231 1,202 2,433
/INFFRET3 TH 2, 426 2,189 2, 465 4, 654
/INFFRET4 TH 1,583 1,498 1, 505 3,003
KEd s 1,067 1,171 1,142 2,313
KFEFE 2,385 2, 574 2, 658 5,232
KFAH A A 726 621 716 1,337
== = 857 993 989 1,982
KFEdsit 76 111 88 199
1 T H 909 982 1,025 2,007
2 TH 972 1,084 1,109 2,193
B3 T H 881 783 895 1,678
B4 TH 679 690 796 1,486
w5 TH 791 794 875 1,669
KFEWRZF 325 311 328 639




far = AT R ET T Bl i 2 AN A

i =

(B4 5]« AARND )

A FI54E10 H K A BIfE
my 4 A AR (FB) i AAa & Al GH
KT 204 250 233 483
KPR 810 946 978 1,924
RF-H HH 144 183 179 362
KFBTH 152 187 162 349
KFHIH 16 20 19 39
KFFE A 463 545 494 1,039
Pl 1 TH 1,051 1,016 1,137 2,153
il E2TH 1,137 1,144 1,199 2,343
=M1 TH 937 995 1,064 2,059
M2 TH 351 321 384 705
3 TH 832 850 879 1,729
A TH 1,187 1,119 1,160 2,279
HRLAr 1 TR 1,646 1,476 1,617 3,093
WL F2 TH 1,421 1,543 1,552 3,095
Bkl 3 TH 789 836 933 1,769
WL F4 T H 371 228 311 539
WL E5 T H 160 152 173 325
WL 6 TH 598 485 580 1,065
Pl 1 TH 1,090 1,121 1,085 2, 206
w2 TH 325 335 371 706
farE1TH 1, 505 1,438 1,399 2,837
My 2TH 636 723 742 1,465
M3 TH 859 827 841 1,668
#1TH 277 342 302 644
H2TH 270 324 328 652
#3TH 1, 400 1,410 1, 462 2,872
= &1TH 366 443 406 849
= E2TH 191 220 223 443
= &3TH 289 357 336 693
=E4TH 425 485 452 937
—&5TH 676 715 699 1,414
HEA 348 414 393 807
| 226 279 281 560
WA2TH 936 908 896 1, 804
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5410 H K H HIfE
i) A A (59) AB (%) UNEGD)
WA3TH 2,055 1,376 1,500 2, 876
WAR4TH 113 82 127 209
WA7TH 337 348 368 716
WA TH 1, 560 1,175 1,410 2,585
FREAR1ITH 1,737 1,854 1,909 3,763
FRER2TH 942 1,003 981 1,984
1 TH 235 254 268 522
2 TH 487 593 627 1,220
It 3TH 1,036 1,138 1,165 2,303
4 TH 59 79 70 149
e [ B 354 424 399 823
bR T 625 570 642 1,212
AT IR 594 712 727 1,439
WETIR1 T H 1,474 1, 480 1,309 2,789
WATIR 2 T H 2, 388 2, 653 2, 448 5,101
WRETIR 3 T H 1,551 1,635 1,461 3,096
WATIR 4 T H 450 529 472 1,001
WAETIR5 T H 812 774 735 1,509
RPTRFIE 1 T B 1,333 1, 450 1,289 2,739
WATRFIME 2 T H 1,335 1,376 1,330 2,706
WHTRAIE 3 T H 867 957 878 1,835
<TDEHE1ITH 435 291 371 662
<TDEH2TH 721 670 599 1,269
<TDEHE3ITH 878 719 809 1,528
HER 1T H 144 151 138 289
TER2TH 410 526 500 1,026
HEm 3 T H 553 610 591 1,201
TER4TH 597 646 643 1,289
MMRE1TH 678 757 780 1,537
MMRE2TH 710 767 841 1, 608
INFFRFE1TH 554 612 674 1,286
INFEFRFE 2 TH 546 570 618 1,188
INFIRFE 3 TH 887 1,008 965 1,973
INFEIRFE A4 TH 803 974 973 1,947
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A FI54E10 H K A BIfE
i) W A (59) AR (&) AR GH
INFHER 5 T H 561 760 685 1,445
/INFFERG 6 T H 606 594 624 1,218
/INFFEET 5 T H 586 598 596 1,194
WNFRRTET 1 T H 764 762 734 1,496
/WNFfRTET 2 T H 559 610 599 1,209
/NFFRTHT 3 T H 831 1,040 1,042 2,082
JEEFHHET 1 T H 90 104 116 220
LB 2 T H 26 36 21 57
¥ 1 TH 282 314 314 628
¥ 2 TH 154 181 180 361
¥ 3 TH 191 141 200 341
B 1 TH 100 122 124 246
kB2 TH 141 178 175 353
B3 TH 144 170 179 349
EFH1TH 826 806 819 1,625
E#FH2TH 1,262 1,388 1,345 2,733
EHFIE3ITH 1,410 1,570 1, 569 3,139
EHFI4TH 1,331 1,433 1,555 2,988
EHFIESTH 1,694 1,897 1,926 3,823
INEEE 886 972 965 1,937



















